REV. DESCRIPTION DCR BY DATE APPROVED

837-0481A
x2

837-0486A

837-0487A
x8

837-0488A

X6 837-0485A

x6

837_0482A NAME DATE /A ELECTRONICS CO..w RDQV'\‘QDR'ANSLA Size
DRAWN MS 14MAR18 ﬁ G APRIL 1,2009 A
Path: YAAM\MECH_DATA\937 Window Bars\937-0357A- 2018 Expedition MAX Cargo & Hatch
CHECKED  AD T4MARI18  Fie: 937-0357A
Date: March-14-18 2:07:52 PM
DESCRIPTION:
THE INFORMATION CONTAINED "
HARDWARE PROPVglg%E g& %ZCA;%V'LE% AL 2018 Ex'pedmon MAX Rear
— - PROPERTY OF DandlR Window Gaurds
Description Part Number|Quantity ELECTRONICS CO. LTD. ITMAY o
NOT BE REPRODUCED AT WHOLE - NO. CATALOG. NO. XXX
1 10-32 x 5/8" Round Head Bolt |  401-0052 26 weSRINPARTWITHOUTTHE 937-0357A
USED ON:
2 #10 Nyloc Nut 422-0004 26 ELECTRONICS CO. LTD. IXX-XXXX SHEET 1 OF 1
3 #10 Flat Washer 403-0007 26 FINISH MATERIAL . . REV O
4 10-32 x 3/4" Self Tap Screw 411-0132 26 MDNIGHTBLACK WRINKLE — XXga CRS




	Sheet1
	Drawing View2


